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(=44 KE 4 OUT | IN | GR | HDCP | NET "% (=44 K £ OUT | IN | GR | HDCP | NET "%
B RE T 39| 39| 60330 |AH 51 |AR &0 45 | 45| 6.0 | 39.0
#E BT =B 42 42 | 8.4 | 33.6 |AH 52 |RiE {E 51 51| 12.0 | 39.0

3 |fEk IE®K 48 | 48 | 14.4 | 33.6 |AH 53 | muEp 44 | 44 | 4.8 | 39.2

4 ] & 40 40 | 6.0 | 340 |AH 54 |d)Il  1ERE 50 | 50 | 10.8 | 39.2

5 |IBAX R 40 | 40 | 6.0 | 340 |AH 55 |hE E 50 50 | 10.8 | 39.2

6 | KJIl 1EF 47 47 | 12.0 | 35.0 |AH 56 |iI#k £= 50 50 | 10.8 | 39.2

7 B E 39 39| 3.6 354 |AH 57 |® Qi 56 56 | 16.8 | 39.2

8 |WMTF HKEE 51| 51| 15.6 | 35.4 |AH 58 |\ 5B 55 | 55 | 15.6 | 39.4

9 &=l B 44 44 | 8.4 | 35.6 |AE 59 | A 48 | 48 | 8.4 | 39.6

10 s &3 42 | 42| 6.0 36.0 |AH 60 B ETF 54 54 | 14.4 | 39.6 |FE
n HR = 42 | 42| 6.0 36.0 61 @& =5 47 47| 7.2 | 39.8

12 |m% EE 41 | 41| 4.8 36.2 62 |EE BEM 47 | 47| 7.2 | 39.8

13 |t &2 41 | 41| 4.8 36.2 63 | EX 47 47| 7.2 | 39.8

14 | KT ZEE 47 | 47 | 10.8 | 36.2 64 B8 HEX 53 | 53 | 13.2 | 39.8

15 |IRIE FR5H 53 | 53 | 16.8 | 36.2 65 |(#R =th 52 | 52 | 12.0 | 40.0

16 80O # 46 | 46 | 9.6 | 36.4 66 |EH HE 56 | 56 | 15.6 | 40.4

17 &% i 52 | 52 | 15.6 | 36.4 67 |BR # 54 | 54 | 13.2 | 40.8

18 | i 39 39| 2.4 36.6 68 [ILRBR B 53 53 | 12.0 | 41.0

19 |#kE —if 39 39| 2.4 36.6 69 P AEF 52 | 52 | 10.8 | 41.2

20 |85  IREE 45 45 | 8.4 | 36.6 |FRE 70 (B KX 52 52 | 10.8 | 41.2 |Fe#
21 phEr KX 45 45 | 8.4 | 36.6 n|gx HE 50 | 50 | 8.4 | 41.6

22 |BHER EBEEE 45 | 45 | 8.4 | 36.6 12 |BE 1EE 56 56 | 14.4 | 41.6

23 |HR wE 44 | 44| 7.2 | 36.8 73 (U e 60 | 60 | 18.0 | 42.0

24 EHE B 50 50 | 13.2 | 36.8 74 At #HEH 52 52 | 9.6 | 42.4

25 HEO0 KB 49 | 49 | 12.0 | 37.0 B |&F %E 49 | 49| 6.0 | 43.0

26 |JIis g 49 | 49 | 12.0 | 37.0 76 |JiE  BA 54 | 54 | 10.8 | 43.2

21 ‘R F= 48 48 | 10.8 | 37.2 77 |P%H =t 60 60 | 16.8 | 43.2

28 |WER B 48 48 | 10.8 | 37.2 78 |G E— 53 | 53 | 9.6 | 43.4

29 | AT Ri& 48 48 | 10.8 | 37.2 |4HHE 19 |EF BX 52 | 52 | 8.4 | 43.6

30 |[AH BA a4 | 41| 3.6 37.4 |®RE 80 |FEIL REE 61 | 61| 16.8 | 44.2 |7RE
3 HE =FB 47 | 47| 9.6 | 37.4 81 Mgk = 53 | 53 | 7.2 | 45.8

32 |\ &R 53 53 | 15.6 | 37.4 82 |k * 66 | 66 | 18.0 | 48.0 |BBH
3B |BEE E—8 53 53 | 15.6 | 37.4 83 |EH &7 77 77 | 18.0 | 59.0

3 |HFE A3 46 46 | 8.4 | 37.6

35 |M&E BEE 46 46 | 8.4 | 37.6

36 HA X 39 39| 1.2]37.8

37 kAR BB 45 45 | 7.2 | 37.8

38 |FFH KK 51 51| 13.2 | 37.8 |#=H

39 W REX 51 51 | 13.2 | 37.8

40 |#E & 43 43 | 4.8 | 38.2 |RH

N = X 43 | 43 | 4.8 | 38.2

42 IO B= 49 49 | 10.8 | 38.2

43 Bl Ef 48 48 | 9.6 | 38.4

44 1B K 48 48 | 9.6 | 38.4

45 |ET HEBA 48 48 | 9.6 | 38.4

46 HEiE —% 54 | 54 | 15.6 | 38.4

47 [l I& 47 47| 8.4 38.6

48 |=% FER 47 | 47| 8.4 | 38.6

49 |E) B\ 52 | 52 | 13.2 | 38.8

50 (80 =E 39 39| 0.0 39.0 |RE

[BEEAEIWRY 7 [BRIEC]TOREBE-FRERSL RLK-V]1-2-4-6-7-8-10-11-12-14-15-18
18




